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Systems of Linear Equations

Lets recall what suctem wakms means. Sustems of
t@um{\m LS A SI”W\ MLJCM‘%L;\E@SCJC 0{' lines (or CWP‘Q/es)mee,tmj
38 oM Polv»

Let's consider the System of lnear equ ahm S i y= 2x "'-’L
What are the different methods me Can use 4o Sblve s\gs‘m\s

of linear eqnafidns? J |esuse
@ Gra?hunﬂ @SMJoSH\KﬁM (3) Elimination
0 Least of the
Varidble in one
st be. solued, for;
Sl the common l'Jv‘ G the 2 lines
lﬁ?n;egﬂz{\{wlwm W\\';J[hoA n iy tow sgchlcy:n
E 2x +1 % oommon point .
y: -2x-3
2x+1 = ~2x-3 t ! sub -[fr \ /
+2)>(<+ :+x)gegs()lx /
= - 2(-1)
4xf/§i = -1 35 T %ji 2&
=-4
=l il \

x=-1 (-1/_1)
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(Mew ] Sy stem of Circles, Pacabflas, andor lines.
let's consider the {vlowiv\ﬂ @rwplf\: 1 Yy=3x-5
2

Find the common  poiwts
e reo\fcalhjw(\So\?o

X*\j =75

thes Y SJCOW\>

u? IX-5

xt 24 (3x-5)"=25
x +(3x ¢)(3x-S) =25
¥+ 9xt-15% -15x +25 =25
10x* -30x +26 égg A cirde X a line |
725 5
10x+-30% = O
10x(x-3)=0
Xz 0,3

Find the y's-

wheh X = 0 When x=3
Y:3(v)-§ 3:—3(5)-5
Y=-5 y=%

Common points are (0,75) and 34).

rofe*] Uce substibdion method v s haly the loes’c est W ek et
Th%-w JMJL - 2014. See my website for more information, lee-apcalculus.weebly.com.




[MmPleﬂ Solve the simwltanesws efl,un/b'm igjg’:i’w |
(Rarde ¥ a fine)

XL*52=10
W= X t2 Find y:
&+ (x+2)" = 10 when x =-3 wi\c_V\_LL

K+ (x+2) (x+) = 10 \% (-3)+2 y=(O+2

K+ xE 242444 = 10 =-| =3
Z+4x+4 =10
T 4dy —p =0 =(-3,-U and (1,3)
2(xt+2x-3) =D

2(x13)(x-1) =0

X:—}l X = |
EEXAN\ple 2] Solve tkcsgs’cem when axpamloblm& Uine interseck

Y=x 244x-1
U=1x+9

xE+4x -1=Fx+9 Find v

xt-3x-10=0 J

(x=5)(x¢t2) = D wkghm 5 when x=-2

X=5, Xz-2. 3=2£}S)+9 T}?ﬂ‘i

M Pui\‘ts are <Sl‘r1’)mw\ (12,1
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